
Correction des mathématiques du vendredi 5 juin 

Le tiers de 3 est 1    (3 : 3=1 ou 3 x 1=3)  

Le tiers de 30 est 10   (30 : 3 =10 ou 3 x 10 = 30) 

Le tiers de 9 est 3  (9 : 3 = 3 ou 3 x 3 = 9) 

Le tiers de 6 est 2   (6 : 3 = 2 ou 3 x 2 = 6) 

Le tiers de 27 est 9   (27 : 3 = 9 ou 3 x 9 = 27) 

Le tiers de 12 est 4   (12 : 3 = 4 ou 3 x 4 = 12) 

Le tiers de 15 est 5   (15 : 3 = 5 ou 3 x 5 = 15) 

Le tiers de 21 est 7   (21 : 3 = 7 ou 3 x 7 = 21) 

Le tiers de 24 est 8   (24 : 3 = 8 ou 3 x 8 = 24) 

 


